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Summary :

, if the outcomes are equally likely.

Note : 0< PA) < 1

P(4) = 1 - P(4) where P(4) is the complement of 4.

Pu

= P(4) + P(B) if 4 and B are mutually exclusive, i.e. ANB =0,

PB) = P(4).P(B) if 4 and B are independent.

Exercises :

(1) Pauline has a bag of Smarties containing 5 red and 3 black Smarties. Two Smarties are
drawn in succession from the bag and eaten. Find the probability that the Smarties eaten

are !

(b) different colours

(d) atleast one red

SEEICEC]




C.EM.-YR 12 -REVIEW OF PROBABILITY 2

(2) A computer assembling plant prefixes all serial numbers on its hardware items with two
capital letters. A piece of hardware is selected at random. What is the probability that the

{c) not contain CC
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(d) 18 or more
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}' ‘twice. What is the probability that the same letter appears-on the

upper face exactly twice ?
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(@) the holiday for two

(b) the colour television set

(c) both prizes

(d) at least one prize

1 199 1

( . d) 0.00998
@350 ® 39060 © 70050 @
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ix cards labelled A, B, C, D, E and F are drawn one at a. time from-a-box.
t is'the probability that ¢ard A or card E will be the third card drawn ?

(b) A'box contains 5 good and 3 defective light bulbs. Two are drawn at random.

(i) What'isthe probability that the first one drawn is defective ?

By drawing a tree diagram, or otherwise, calculate the probability that the two light
bulbs drawn-are :

(i) both defective

(iify both:good
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o identical packs of cards are labelled pack X and pack ¥.
e contents of the packs are as follows :

X: 1, 2> 3:3'4':. 5, 6 Y: 45 53 6: 7’ 8’ 9

A card xs---selected frem pack X at random and placed on a table. Similarly, a card from
ht of the previous card, making a

'io—dlglt number

Find the probability that the immber formed is :

) 26, (i) even; (i) lessthan45
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